|711o/u 2 mEm

7110 SERIES

o

WitHR
sy BRABRMENLT . BAWMN 0 BAST
No. RUEY il i o
w 711012 | M12 50 15 500
7110-16 M16 140 30 1100
BRESAVFYS
RAIVT—RIALTS No. RCIED vk
5 | 75Y72ZuRT1IOM Z110M12 | W12 IS5V 1=y7110B
= 7110M-16 | M16 .
g\ EEE—— : &
1|\ N1947F RIVT—RISUT T—RRyIIS5VF :
v | 73VEYT1Zyh7110N No. |RUIU No.  |fUEW .
k 7110N-12-1| M12 7110N-12:2| M12 :
Z 7110N-16-1| M16 7110N-162| M16 :
> .
54 :.
= - BR—NILRAVN71108 ZR—Y—TIUXVR7110ZA ||+
v A No. LIFY No. |RUFY : No. | @&T# |aUEy
I 71105-12-1 | M12, M16 7110ZA-12:2 | M12 : 214
& "7110ZA-16-2 | . 7110B-12| 2> | M12
71105-16-1 | M16, M20 71102A-16-2 | M16 : 1618
18, 20,
- ¢ | 71108-16| 22,24, | M6
AR—Y—TLAYR7110Z No. [mumo| s No. [mimu|m= | @ 28
% 71102121 M12 | 25 71102162 M16 | 60 | = - /
é 71102122 M12 | 50 7110Z-16:3| M16 | 120 f-:
7110z:123| M12 | 100 7110Z-16-4| M16 | 240 | ° _ _
I orier i 30 | oSyFazu R
| | ¢ |g5vFazurii0A
p 2 .
RIS —RIALF No. |tUWU| B .
N=2Z2Zwh7110F 7110F-12-3 | M12 | 30 Lo
7110F-16-3 | M16 | 40 :
B9 No. |mUwo| g :
N—=RI1Zwh7110FA 7110FA-12-3| M12 | 30 : EETH |[RUEY
7110FA-16:3| M16 | 40 : 7110A-08 10 M 8
’|\° : | 7110A10] 12 M10
Z | AANLIALT S 7ntoaa2) 1406 o
T | 90EfE@y 1~ AOEIEO+EET I 1S FUISVIHEREBIA TS : 18
5 R—Z1=yh7110F5-1 R—Z1=yh7110FP-1 R—2I1=yh7110FS-3 : 18,20,
5 No. |6lEU|8%  gemam NO. |GUEU No. |@UgU|ss || o | 7110A-16| 22,24, | M16
& a THORS21| M12 | 30 @ THORP21 | 12 70123\ Mi2 |30 || ¢ 28
7061 | M16 | 40 THOR-161 | M6 7105163 16 |40 ||
P AR—BIUAV )
— ‘I')I/N\ﬁﬁ TAOvHA . o N
O=547 AR—H=IUAVN AR—H—TUAVN o | AU T ILATRTTI0AS
7110FB 7110FT :
No. [wUmo[Ee No. [wtmu[mz || -
7110FB-12:1 | M12 | 8 710FT-12:1 | 12| 8 :
7110FB-16-1 | W16 | 12 7110FT-16-1 | 16 | 12 :
[ ettt e -
7 No. WETE |atwy | 0 | Tv¥6363 ey
= 710FMI2 | 12140678 | 12 | &[S gaah - No. |mUmy
] 7110F-M16 | 1820222428 | M16 ALY, _7110A512-1 | M12
' L7110AS161 | M16
. . - SINCE 1560
480 CADF—95 90—k - EERAE Web B bT! [ 7T \ ﬁj\ NABEYA co., L.
FriendsNo.219/2021.112ERE




R
AR—YG—TUAVRNCEOTNIY(TD—D)IC By pEhB~Ed,
BOCBEAIRICESNE T,

AR=Y—TUAVNIADECTHEHFERDCEN TETET,

M12(FE5A500mmE T, , Dﬁ
M16IFERA1100mmMET s
ISV TS TCEET,
N =) (@)
2=
| ] ‘ |
G = ==
B B
N !
1 =
S FZE AN TASART BT, AZwhEAZubDA VY —OvIIC KU,

""""""""""""""""""""""""""""""""""""" KICBESNFT,

BEER-Y
E-9700G E-9700G E-9700K E-9700D E-9700D
ISV TGAN—I e c ik ISV T TR RS ARRILR7110D ZSZRRILR7110DM

e — O

P.764 » P.764 » P.780 » P.834 »
E-9700D E-9730 E-9730 E-9700D
ASZARNRILN7110DS PS54 =T RILN7110DH | PS54 =2 FR)LL7110D1 | RS AL
= TIJRT2327110DV

P.835 » P.827 » P.827 » l P.835 »

SINCE 1560

EVA co,um. CADF—99'9v0O—F « EERRIE Web 91 hT! [ 7T \

FriendsNo.219/2021. 1 1ERE

T THYNUIN

481



T THYNUIN

482

95YEYT1yh71108

ERON’ ATKD
BLOCK CLAMPING UNITS 7110B PAT.P No.E-9700B
(# B )S45C [(mnE | HEA  (REWE) B3
A
C D
&y mm$
P
M
o [] |
4 WA B
[T] oIl
| M E
w ‘
zs
L K
By A XX
No. A B C D :E  F@® G  H I J K oL M N@E) = O
7110B-1212 | 110 30 10 18-48 40 M12x1.75 20 48-78 30-205 78-283 65 30 12.5 MI12x1.75 24
7110B-1214 | 110 30 10 18-48 40 MI12x1.75 20  48-78 30-205 78283 65 30 12.5 MI12x1.75 24
7110B-1216 | 110 30 . 10 18-48 40 MI12x1.75 20  48-78 30-205 78283 65 30  12.5 MI12x1.75 24
7110B-1218 | 110 30 10 18-48 40 M12x1.75 20 48-78 30-205 78-283 65 30 12.5 MI12x1.75 24
7110B-1618 | 142 40 13 2869 50 M16X2 30 57-97 40-250 97-347 80 40 14  M16x2 27
7110B-1620 | 142 40 13 2869 50 MI16X2 30 57-97 40250 97-347 80 40 14  MI6x2 27
7110B-1622 | 142 40 13 2869 50 MI16X2 30 57-97 40-250 97-347 80 40 14  M16x2 27
7110B-1624 | 142 40 13 2869 50 M16X2 30 57-97 40-250 97-347 80 40 14  MI6x2 27
7110B-1628 | 142 40 1 13 12869 50 M16X2 30  57-97 40-250 1 97-347 1 80 40 14  M16x2 27
Dl QeSS * FERERRY) CRES
#—5—No. No. EETAD  OUBU  OSUTEE L, o BAREN am i
%904413 | 7110B-1212 12 M12 13-43  78-283 50 15 3.1 76,000
%904414 | 7110B-1214 14 M12 13-43 78283 50 15 3.1 76,000
%904415 | 7110B-1216 16 M12 13-43 = 78-283 50 15 3.1 76,000
%904416 | 7110B-1218 18 M12 13-43 = 78-283 50 15 3.1 76,000
%904417 | 7110B-1618 18 M16 15-56 = 97-347 140 30 6.1 106,000
%904418 | 7110B-1620 20 M16 15-56  97-347 140 30 6.1 106,000
%904419 | 7110B-1622 22 M16 15-56 = 97-347 140 30 6.2 106,000
%904420 | 7110B-1624 24 M16 15-56 = 97-347 140 30 6.3 106,000
%904421 | 7110B-1628 28 M16 15-56 = 97-347 140 30 6.4 106,000
BARBHREELL D) HEIDEE,
WERRAER
| s BBBHERL
No. S =~ —wh P — I N g
i | G I VNI e C e
Bl71102:2 7110B-1212  7110M-12 - 7110Z-12-1  7110Z-12-2 - 7110Z-12-3 © 7110F-12-3 ~ 7110F-M12x12
S | 7110B-1214  7110M-12 - 7110Z-12-1  7110Z-12-2 7110Z-12-3 : 7110F-12-3 . 7110F-M12x14
S7T10r3 7110B-1216 - 7110M-12 - 7110Z-12-1  7110Z-12-2 7110Z-12-3  7110F-12-3 - 7110F-M12x16
| 7110B-1218  7110M-12 - 7110Z-12-1 7110Z-12-2 7110Z-12-3 . 7110F-12-3  7110F-M12x18
SN 7110B-1618 - 7110M-16 - 7110Z-16-1 - 71102-16-2 - 7110Z-16-3 - 7110F-16-3 - 7110F-M16x18
7110B-1620  7110M-16 - 7110Z-16-1 - 7110Z-16-2 - 7110Z-16-3 - 7110F-16-3 = 7110F-M16x20
7110B-1622  7110M-16 - 7110Z-16-1  7110Z-16-2 7110Z-16-3 = 7110F-16-3 = 7110F-M16x22
7110B-1624 7110M-16 - 7110Z-16-1 7110Z-16-2 7110Z-16-3 . 7110F-16-3 . 7110F-M16x24
7110B-1628 - 7110M-16 : 7110Z-16-1 - 7110Z-16-2 : 7110Z-16-3 : 7110F-16-3 : 7110F-M16x28
SINCE 1560
CADF—959y0—K - EERAE Web ¥ bT! [ 7RV \ “j\ NABEYA co, L.

FriendsNo.219/2021.112ERE





